Homework #3 4
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English version of Home Work #3 4

® \ariables x and r are principle and annual
Interest rate, accumulated amount y is
y = x(1+r)", and n is the number of years. For
example, n = 1 is the first year, n = 2 is the
second year, and n = 3 is the third year, and
SO on.

® Please print out all accumulated amounts y In
6 years.
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Y1 = X(1+r)

Y2 = X(1+1)% = X(1+7) (1+1) = y,(1+r)
Vs = X(1+1)°= y,(1+7)

Ya = X(1+r)*= y3(1+r)

¥ n&E Aoy, =x(1+n)" =y (1+r)

y=( )

® Hint
1% year
2" year

1545~ & i e 43 8
for(i=1; i<=6; i++){
y=(0 )*@A+r); /EFHE» & afest
print(“year = %d, #4|4r=%f\n”, i, y);
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accumulated amount y; = x(1+r)

accumulated amount vy, = x(1+r)*= x(1+r)
(1+r) = y,(1+r)



3" year accumulated amount y; = x(1+r)%= y,(1+r)
4" year accumulated amount y, = x(1+r)*= y;(1+r)

n-th year accumulated amount
Yo = X(1+1)" =y (1+r)

y=( ); /lenter the proper value
for(i=1; i<=6; i++){
y=( )*(1+r); /lwrite a proper statement
print(“year = %d, accumulated amount= %f\n”, i,

y); //print out accumulated amount

}



